Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- 1,2(C2D) EXAMINATION ~SUMMER-2020

Subject Code: C320003
Subject Name: ADVANCED MATHEMATICS(GROUP-2)
Time:02:30 PM TO 04:00 PM

Instructions:

1. Attempt all questions.

Date: 05-11-2020

Total Marks: 70

2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Question Text and Option. U2« vi [Ascul.,

No.

d0D, @o)] =
. [A ]2 B.

C. 0 D.

d(0D, @o)] =__.
o |AC ]2 B. |1

C. |0 D. |2

If A(O,—1)and B (4,5) then the coordinates of the mid-point of the AB = .
2. | A 4,4) B. (2,2)

C. |(-2,2 D. | (4,6)

ofl A0, —1) i B (4,5) W2 AB i wealsigotidiam=__ |
2. A | (4,9 B. | (2,2

C. |(-2,2 D. | (4,6)

For A(a, b)and B (b, —a), if M (L, 2) is the mid-point of the AB , then A(a,b)=__ .
3. |A | (13 B. | (-1,-3)

C. | (@13 D. | 1,-93

A(a, b) 214 B (b, —a) Hi2 o5l M(1, 2) 2LAB <l H=u[sig €t dl A(a, b)=_ .
3. |A | (=13 B. | (-1,-3)

C. | (@13 D. | 1,-93

If AL, 0), B(1,1) and C(0,1) are the vertices of triangle then m«B=___ .
4. | A | oo B. | 60°

C. |30 D. | 45

5L A(L 0), B(L1) 24 C(0,1) 2A (Bisiwi-i [Q=ifoigatl st dl msB=__ .
. |A | o0 B. | 60°

C. |30 D. | 45

Slope of the line y=Xis=___ .
5. |A | w B. |1

C. 0 D. | -1
U, |wly=xdien=_ .
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A. o B. 1
C. |0 D. | -1
Slope of the line y =1lis=___ .
6. | A o0 B. |1
C. 0 D. | -1
yly =1dlan=_
<. A. 0 B. 1
C. |0 D. | -1
Slope of the line making an angle %radian with positive x—axisis=___ .
7. A. 0 B. 1
c. |+ D. |3
X — 218 A1 %b}\@ﬁ oleladl Al aln =
2. A. o] B. 1
c. |+ D. |3
Equation of the line passing through the points (0,0)and (2,3) is=__ .
8. |A | 2x+3y=0 B. | 2x-3y=0
C. | 3x-2y=0 D. | y=2x-3
[6iz2il (0, 0) wiel (2, 3) Wizl U1z adl vl uvlszoe=_ .
¢. |A | 2x+3y=0 B. | 2x-3y=0
C. | 3x-2y=0 D. | y=2x-3
If lines 3x+ky+1=0and 2x—3y+7 =0are perpendicular then, k =
9. |A | =2 B. |1
C. |3 D. |2
ol 2ol 3X + Ky +1=0%d 2X -3y +7 =0 wzuz dot gl dl, k =
. |A | -2 B. |1
C. |3 D. |2
y - intercept of the line 2x+3y =6 is=___
10. |A. | =2 B. 6
C. |3 D. |2
WAL2X+3Y =6 Al y-vidiviz= |
10. | A. -2 B. 6
C. 3 D. |2
Radius of the circle x* +y* =1is=__
11. [A V2 B. |1
C. |0 D. |2
NX® +y? =14l Born = .
1. [A. | 2 B. |1
C. 0 D. |2
Centre of the circle x* +(y—2)*=4is=____
12. [A [(24) B. (22
C. (0,2 D. | (2,0)
WX +(Y—2) =4 5= .
2. [A. | (2,4) B. | (22
C. 1(0,2 D. | (2,0)
13. | Areaof the circle x* +y* =2ax is=____
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A. 27a’ B. | za?
C. | = D. | za®
2 4
N X +y? =2ax 4 &A= .
a3 | A 27a’ B. ra’
C. | = D. | za®
2 4
Equation of the tangent at (-1, 2) to the circle x* +y*+6x—8y+1=0is=__
14. |A. | x—-y+3=0 B. | x+y-3=0
C. X-y-3=0 D. | y=x+3=0
A0 X2+ Y2 +6X—8y+1=0 <i (-1,2) xRN RUds = .
v. | A. X-y+3=0 B. X+y-3=0
C. | x-y-3=0 D. | y=x+3=0
If f(x)=cos2x then, f(z)=___ .
15. | A j? B. %;
C. |1 1
osl f(x)=cos2x €iudl, f(z)=__ .
. A [ % B. [ &
C. |1 1
If f(x)=x>-2x+1then, f(-n=__ .
16. A | -2 B. |1
C. 0 D. |4
oAl f(x)=x>—2x+1 Gldl, f(-1) =
1e. A | =2 B. |1
C. |0 D. | 4
If f(x)=xthen, f(x)-f(x-1) = .
17. | A. | 2x-1 B. | xX*-x+1
C. 2X+1 D. | 1-2x
oAl f(x)=x? then, €A dl f(x)— f(x-1) =
19. |A. | 2x-1 B. | x*-x+1
C. 2X+1 D. | 1-2x
If f(x)=log,(x) then, f@)=___.
18. [A [-2 B. [1
C. -1 D. |4
ol f(x)=log,(x) €ixdl, fy=__ .
1. | A, -2 B. 1
C. -1 D. |4
If f(x)=2x+3and g(x)=3x-2 then, go f(-)=__.
19. [A. | =2 B. |1
C. -1 D. |0
o4l f(x)=2x+3%{-\1g(x)=3x—2 GlA dl, gof(-1) = .
iz A | =2 B. |1
C. -1 D. |0
20 A T2 B. [1
C. 4 D. |0
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I|m X2+2x+l —

x—1 x+l -

0. TA |2 B. |1
C. 4 D. 0
- 3
1=

2l A To B. | 12
C. 4 D. -8
i =

<L TA To B. |12
C. 4 D. -8
- 23><_2><
I 25 =

22. |A. |0 B. |log,3
C. |log,4 D. |log,?2
I 255 =

22, |AC |0 B. log, 3
C. |log,4 D. |log,2
lim 2" =
n—oo n3 -

23. A |1 B. |1
C. % D. %
lim 22 =
n—oo n3 -

3. [A 1 B. |1
C. % D. %

24. | A. 3 B. 1

2 3

C. % D. %
lim sz =

. [A |3 B. |1
C. % D. %
lim fanx
Xx—0 X T

25. A 11 B. |0
C. -1 D. z
im tanx —
=

LU, | A 1 B. 0
C. -1 D. z
- n
lim (1-2)'=

26. A ]2 B. [ 2
C. | -2 D. | ¢

2%, mn@—%y:___
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A |2 B. | ¢?
C. |2 D. |e?
lim (1+3n) =
n—0

27. [A |3 B. |¢?

-3

C. % D. e
lim (1+3n) =
n—0 E—

9. | A. 3 B. el
C. % D. e‘3
a@) _

ax T—

28. A |1 B. |0
C. X D. 2X
a@o _

X —_—

2 A |1 B. |0
C. X D. 2X
d(logx) _

dx -

29. | A. 1 B. 0
C. X D. %
d(logx) _

dx -

Uz, | A 1 B. 0
C. X D. %
47 _

dx
1/2 172
30. |A. | ix B. | 1x
32 3/2
C. %X D. %X
d(XUZ) _
dx .
1/2 ~1/2
30. |A | 1x B. | 1x
312 312
C. %X D. %X
d(@*) _
dx .

31. |A. | a*log,a B. | a‘log, x
C. | xa*?! D. | xa*
d@) _

dx .

31. |A. | a‘log, a B. | a‘log, x
C. | xa**t D. | xa*
d(sin?x) _

dx -

32. A. 2sin XCos X B. —25sin Xcos X
C. % D. cos? x
d(sin?x) _

dx -

32. | A, 25in X Cos X B. —2sin Xcos X
C. % D. cos® x
4 (sinx) =

33 dx \cosx
A. | secxtanx B. | sec’x
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C. | cosecxcotx | D. | —cosec’x
dx (S;(I)r;);( -

33. | A. | secxtanx B. | sec’x
C. COSECXCot X D. | —cosec®x
4 (tan™' x+cot™ x) =

4. A |1 B. 0
C. -1 D. z
94 (tan™' x+cot™ x) =

3v. |A |1 B. |0
C. -1 D. z
If xy = 2then, & =

3. [A |4 B. |
C. | x D oy

y X

ofl xy =26 dl, & =

3. A. % B. ’—yx
C. | x D oy

y X

If x?+2xy+y?=0then, & =

36. (A |1 B. |0
C 1 D. | X+Vy
ol X2 +2xy+y2 =0 ¢l dl, & =

3. A |1 B. |0
C -1 D. X+y
If x=asin 6, y=acos@then, & =
C cotd D. | —coto
ol x=asinf, y=acosd GAdl, ¥ =

39. A. tan @ B. —tan@
C. cotd D. | —coto
If y=cosxthen, d_2 =

3. [A sin x B. | —cosx
C. COS X D. | —sinx
o4l y =CosX A dl, % = .

3¢ A [sinx B. —COSX
C. COS X D. | —sinx
Maximum value of f (Xx) =sin X, x[0,%] is=

3. A |1 B. |0
C. -1 D. |z
f (x) =sin X, x €[0,z] Il HeH [54d =

3. |A |1 B. |0
C. -1 D. z
The function y = f (x) is minimum at (a, b) if, at (a, b) =

40. |A. | >0 B. | >0
C. f <0 D. | f <0
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(48 Y= T epi (@ D)y gy gia di, (@ D) =

f >0

vo. |A. | >0 B.
C. | f'<0 D. | f<0
Ify=x%, then yv= .
41. | A. | ax® B. 24X
C. 24X D. |0
5??Ly:x3 S dl, yv=
i [A | 4x® B. | 24x
C. | 24x D. |0
Minimum value of f(x)=x*-1is=__ .
2. A |1 B. |0
C. -1 D. | -2
f(X)=X* -1 AAdU 4 =
A |1 B. |0
C. -1 D. | -2
The equation of motion of a particle is s =t* —5t* + 3t + 5then, acceleration of a
particle at t =1is =
43 A |0 B. 6
C. |4 D. | -4
Al 521 s0lell oo uaflsel S=1 -5t +3t+5 Gy di, t =1z sp1dl udsl =
¥3. | A 0 B. 6
C. |4 D. | -4
The equation of motion of a particle is s =t* —3t* + 1then, velocity of a particle at
t=1is=
44,
A | -3 B. 6
C. 3 D. | -4
a[d 5341 50l oufA wsls2m s =1° - 3t° +1 Gl dl, =1z spdldo1 =
Y. | A -3 B. 6
C. 3 D. | -4
Isin Xdx=
45. A T cosx+c B. | —cosx+cC
C. |sinx+c D. | —sinx+c
jsin Xdx=
U A | cosx+cC B. | —cosx+cC
C. |sinx+c D. | —sinx+c
Ix3dx=
46. | A | 4x®+c B. | 3x*+c¢
C. | ¥+c D. | £+c
.[x3dx:
ve. |A | 43 +c B. | 3x’+c
C. | ¥+c D. | £+c
.[3de:
47. | A | Z5+c B. | 3*log,3+c
C. | Z+c 3 +c
%9, I3de=_.
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A. Bt C 3*log,3+cC
C. | Z+c 3 +c
_[(sinz x+cos” x)dx=____

8. [A. | x+c 2sin X +2C0oSX +C
C. |sin®x+cos®x+c c
I(sinz X+cos® X)dx=___ .

“C A | X+C 2sin X +2C0sX+C
C. |sin®x+cos’x+c c
[Fzdx=___

49. | A .ibm%ﬂ+c 'ﬁbmfﬂ+c
C. |tan'x+c —cot x+¢
[Fzdx=___

we | A | Llogle|+c 4 log|x2|+c
C. |tan'x+c —cot™ x+¢
_[sinz xcosxdx=___ .

50. [A. | 2sinXxcosx+cC —six ¢
C. | —ssx4c Sx 4 ¢
J'sin2 xcosxdx=__ .

yo. | A. | 2sinxcosx+cC —sx 4 ¢
C. | —sx4c s'x 4 ¢
[Apde=__

51. |A. | itan'(2 tan(%)+c
C. | Lsin(%) 2tan™(x)+c
Ixi4dx:

ui. | A | Ltan(x tan*()+c
C. | Lsin(%) 2tan™(x)+c
Iesudx_

52. | A tan‘l(ex)+c tan‘l(e2X +1)+c
C. | log(e? +1)+c log(e” )+c
J.ﬁ dx=

uz. | A tan’l(ex)+c tan’l(e2X +1)+c
C. Iog(e2X +1)+c Iog(ex)+c
.[Iog xdx=__

53. |A. | l4c lic
C. | xlog x+x+c xlog x—x+c
Ilog xdx=__

u3. | A ltc itc
C. | xlog x+x+c xlog x—x+c
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.[e3xdx=_.

54. |A. | e¥+c B. | £+c
C. |-£+c D. | 3™ +c
J.e”dx: :

uy. |A | e¥+c B. | £ +c
C. |-£+c D. | 3&¥+c
Iexsin xdx= :

55. | A. | e*cosx+c B. | £(sinx—cosx)+c
C. | £(sinx+cosx)+c D. | e*(sinx—cosx)+c
J'exsin xdx= :

uu, | A | e*cosx+c B. | £(sinx—cosx)+c
C. | £(sinx+cosx)+c D. | e*(sin x—cosx)+c
1
Ixzdx:

56. |
A |1 B. |1
C. |z D. |2
1
szdx:_

ue,

1A |1 B. |1
C. |z D. |2
jcos xax=__

57. | 2
A |1 B. 0
C. |2 D. |z
jcos xdx =

ne. | ¢
A |1 B. 0
C. 2 D. |z
2
J.xsdx:_.

58. =2
A |1 B. |o
c. |z D. |1
2
J'x3dx=_.

we. 2
A |1 B. |o
c. |z D. |1
Area enclosed by the linesy =X, x=1,x=2 and X—axisis = .

59. [A. |3 B. |0
C. |3 D. |1

U, | UBL Y =X, X=1,X =2 B X — 218 93 2Udd Uzl o AR50 =
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A |3 B. |o
C. |2 D. |1
Area enclosed by the curve y =cosxin the first quadrantis=___
60. |A. |3 B. |1
C 13 D. 13
Y =COSX A ULH URBIHI 2Udd Uesl a5 =
co. | A 3 B. 1
C. |3 D. |}
Range of the observations 2,5,4,10,4,9,6 iS=_____
61. | A. 8 B. 4
C. |7 D. |10
wAdisl2, 5, 4,10, 4,9,6 AL [Qzdl = .
<1. | A 8 B. 4
C. |7 D. |10
Mean of the observations 2,5,4,1,3 is=____
62. |A. |3 B.
C. |5 D.
wadisdl 2,5, 4,1, 3L HAS =
<<, |A. |3 B.
C. 5 D.
Median of the observations 2,5,7,11,3 is=_____
63. |A. |3 B.
C. |5 D.
wAdlsl 2,5,7,11, 3l HEqRY=
<3. | A. 3 B. 1
C. |5 D. |4
If Mean of the observations x -2, x+5, x+4, x—3 is 10 then x=___ .
64. | A 5 B. 12
C. |o D. |10
ol BAAlSl X —2, X+5, X +4, x—3 <l 4510 4 dl, x=__
<¥. | A 5 B. 12
C. |o D. |10
Mode of the observations 2,3,2,5,7,1,2, 1,3 is=_____
65. |A. |9 B. 2
C. 7 D. |1
§Adis12,3,2,5,7,1,2, 1,3l olgds = .
<u. | A 9 B. 2
C. 7 D. |1
Relation between mean, median and mode is given by
66. |A. | Z=3M-2X B. | z=3m+2X
C. | z=3x-2M D. | z=3X+2M
HEAS, HEARY Dl ol ds A2l Hold = :
ee. |A | Z=3M-2X B. | z=3m+2X
C. | z=3x-2M D. | z=3X+2M
Mean and standard deviation of 10 observations are 4 and 2 then their coefficient of
variation is %
67. TA. 10 B. | 100
C. 50 D. |4
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10 214alsl {15 el UHLOA (A28 4 244 2 S dL dHALAGAls %
9. |A. |10 B. | 100

C. 50 D. |1

If the Mean of the data is 10 and coefficient of variation is 40% then, the standard
68 deviation of the data =

LA |3 B. |10

C. 5 D. |4

o7l 245l oS5 10 2 Adils 40% SIA dl, UHIUOA (A2 =
<. |A. |3 B. |10

C. 5 D. |4

From given 12 observations if, > x, =102 and " x* =1542 then, standard deviation is =
69. :

A. 56.25 B. 75

C. | 3833 D. | 125

SUUAL PAGISAL WIZ, o1 3 x =102 94 3 x?% =1542 G4 dLUHIAA [A3ed =
¢ | A | 565 B. |75

C. | 3833 D. | 125

The mean deviation from the mean of the observation 3,10, 4,10,7,10,5 is=
70. | A. | 257 B. |2

C. 3 D. |37

w9disel 3,10,4,10,7,10,5 <, Weusell U1 [Aadd =
90. A, | 257 B. |2

C. |3 D. |37
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